MCI 102A2 - 102A3 PARTS VIANUAL

" Date ___10-1-92 Page __ 3.3206
Qty
Key | Part Number Description Note S 3 Axie
DOOR ASSEMBLY (BASIC) - SEDAN STYLE ENTRANCE
(EFFECTIVE WITH TMC UNIT #6855 & MCI UNIT #42492)
3J-32-218-0001 Door Assy - Sedan Styie Entrance (W/Keyed Lock) a 1 1
3J-32-293-0001 Door Assy - Sedan Style Entrance (W/Keyed Lock) b 1 1
3J-32-220 Door S/A - Sedan Entrance (Riveted Assy) 1 1
1 3J-32-4 Frame S/A - Welded c 1 1
3J-32-329 Frame S/A - Welded d 1 1
2 | 3J-3242 Panel - Lower Exterior 1 i
3 | 3J-32-221 Panel - Upper Exterior 1 1
19-13-28 Rivet - Mtg Exterior Panels - Center & Around Lower Window 17 17
19-13-138 Rivet - Mtg Panels - Sides S0 | 50
19-13-137 Rivet - Mtg Panels Below Upper Window 10 10
3J-32-273 Bracket - Entrance Door Padlock 1 1
3J-32-197 Insulation - Below Upper Window - Center - Large 1 1
3J-32-196 Insulation - Below Upper Window - Center - Smail 1 1
3J-32-195 Insulation - Below Upper Window - Front 1 1
3J-32-200 Insulation - Front - & Rear of Lower Window 2 2‘
3J-32-94 Lock Body Assembly 1 1
3R-32-238 Body S/A 1 1
3R-31-225 Bar - 3/8” Square, SS 1 I
3R-29-57 Pin - Short 1 1
3J-32-65 Pin - Long 1 1
3R-29-59 Spring - Lock Body e 2 2
19-13-137 Rivet - 3/16" dia 2 2
19-1-687 Screw - Mtg Lock Body to Door Frame (#8-32 x 1/2) 2 2
3J-32-169 Shim - Between Lock Body & Door Frame 1 1
19-1-696 Screw - (#10-32 x 1/2) Pan Head Cross Recess K 1
4 | 3J-27-66 Sash - Lower 1 1
5 | 3J-27-67 Seal - Around Sash ; ' ‘ = 1 1
6 | 3J-27-68 Strip - Rubber Locking, Securing-Molding a 1 i
7 3J-27-8 Sash Assy - Entrarice Door Upger+{Double Glazed) 1 1
3J-27-185 Glass - Only - 1 1
3J-27-176 Retaining Frame S/A - Rear ¢ 1 1
3J-27-177 Retaining Frame S/A - Top 1 1
3J-27-178 Retaining Frame S/A - Front 1 1
3J-27-179 Retaining Frame S/A - Bottemn r 1 1
3J-27-180 Outer Frame - Rear T isa” 1 1
3J-27-181 Outer Frame - Bottom 1 1
3J-27-182 Outer Frame - Top 1 1
3J-27-183 Outer Frame - Front 1 1
8 | 3J-27-186 Glazing Rubber 1 1
3K-27-76 Sash Assy - Entrance Door Upper (Doutle Glazed) b | -1 i
3K-27-99 Frame S/A - Retaining - Rear 1 i
3K-27-100 Frame S/A - Retaining - Top 1 1
3K-27-101 Frame S/A - Retaining - Front 1 1
3K-27-102 Frame S/A - Retaining - Bottom 1 1
3K-27-103 Bumper - Glass 2 2
3K-27-104 Frame Assy - Outer 1 1
3K-27-79 Glass Unit 1 1
3K-27-105 Glazing Rubber : AR | AR
9 | 21-7401-92 Screw Cover - Black Vinyl Extrusion AR | AR
19-1-910 Screw - (#8 x 3/4) Type AB Torx Black 24 24
19-1-619 Screw - (#10-24 x 3/4) SS 1B 13
3J-32-222-0001 Panel S/A - Door Interior (Fiberglass) 1 1
10 | 3J-32-2M200 Panel - Door Interior - Fiberglass 1 1
3J-32-120 Tapping Plate - Mtg Kick Panel 5 S
19-13-24 Pop Rivet - Mtg Tapping Plate to Fiberglass Panel 10} 10
3J-32-50 Molding - Around Window Opening in Fiberglass Panel 1 1
11 | 3J-32-52-0001 Grab Rail S/A - Entrance Door dg| 1] 1
3R-2-11 Bracket - Grab Rail Ends - 1 1
3G-32-98 Spacer - Under Casting 2 2
3J-32-53 Tube - Grab Rail 2 2
19-1-138 Screw - Mtg Grab Rail Tube (#6 x 1/2) 1 1
19-1-914 Mach Screw - Mtg Casting to Spacer (5/16-18 x 3/4) 2 2
3J-32-340-0001 Grab Rail Assy - Entrance Door h - 1
3J-2-270 Grab Rail S/A - Entrance Door - 1
3J-32-189M139 Spacer - Mount Grab Rail - 1
19-1-914 Mach Screw - Mount Casting to Spacer 2

TRANSPORTATION MANUFACTURING CORPORATION « MOTOR COACH INDUSTRIES

PrintedinUS A



